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0l) a)

b)

All Sections are compulsory
Section - A

Read the following passage and answer the questions [5]

I am speaking on this occasion not as a Briton, not as a European, not as a
member of western democracy, but as a human being, a member of the species man,
whose continued existence is in doubt. The world is full of conflicts. Jews and Arabs;
Indians and Pakistanis; white men and negroes in Africa; and overshadowing all
minor conflicts, the titanic struggle between communism and Anti-communism.

1) The passage is found in the lesson-

i1) How does the speaker describe himself?

iii) How is the world?

iv) What is it that overshadows all minor conflicts?
v) What is meant by titanic?

Read the following paragraph and answer the questions by choosing the right answer.
[5]

Let no one imagine that my experiments in dancing and the like marked a
stage of indulgence in my life. The reader will have noticed that even then I had my
wits about me. That period of infatuation was not unrelieved by a certain amount of
self introspection on my part. I kept account of every farthing I spent, and my
expenses were carefully calculated.

1) What marked a stage of indulgence in his life?
1) Exercising strict economy
2) His violin practice
3) His dressing
4) His experiments in dancing
i1) What will the reader have noticed?
1) He had his wits about him
2) He was obsessed
3) He was careless
4) He was afraid.



ii1) What did he keep account of?
1) His travelling
2) His work
3) Every farthing
4) His books

iv) Introspection means

1) Speculate

2) Examine one’s own thoughts
3) Feel strongly about

4) Suspicion.

v) How did he calculate his expenses?

1) Slowly
2) Carelessly
3) Carefully
4) Badly

02) Answer any two of the following in not more than 100 words each

[2 x 4=§]

a) Why did Gandhi want to become an English gentle man? Give two reasons.

b) According to barnum, how does vanity and envy lead to poverty?
c) How do books enrich keller’s life?
d) Justify Russell’s statement that the world is full of conflicts.

03) Answer any One in about 200 words.

a) What are the qualities required for writing ‘well” according to L.A.Hill?

b) How will a knowledge society transform the life of the people?

c) Describe the events that lead to the shooting of the elephant by orwell.

Section - B

04) a) Answer any one in about 100 words.

1) What does Blake see in the chartered street?
il) What does the nightingale symbolise for the poet
ii1)) What was the final request of the lover to his beloved?

b) Explain any one of the following
1) He works his work, I mine
il) If winter comes can, Spring be far behind.
iv) The carriage held but just ourselves and immortality.

[7]

[4]

[4]



05)

006)

07)

Answer any one of the following in about 200 words. [6]
a) summarize frosts ‘mending wall’

b) Justify the title’ The gift of India’

c) Critically appreciate ‘Advice to fellow swimmers’.

Section - C

Answer any one in about 200 words. [6]
a) Consider ‘subha’ as a dramatisation of the basic human need for love and friendship.
b) Sketch the character of Dr.khanna.

c) Justify the title ‘Diamond Rice’.

Section — D

Read the following passage and summarize it [5]

Once, there was a farmer who was a very disagreable man. Everyone who knew
him disliked him. He was sure to make the most of whatever went wrong about him; and
the poor offender always met with severe punishment. There was not a boy in all the
neighbourhood who did not feel uncomfortable as he passed his gate; and the poor dog
that barked at his guese, or the neighbour’s rooster that crowed on his wall, was speedily
visited either with the lash of his whip, or the shot from his gun The very cat knew his
footsleps And slunk away from him in terror. He was a complete past, as much so to
himself as to those about him. Every day brought him some fresh trouble, and found him
in continual “hot water’; indeed, his very life was made up of broils.

After a time, Good farmer Green came to live near him; and as you may suppose,
he was soon told the character of his not over-pleasant neighbour. ‘well’ said he ‘if he
treats me badly, I’1l very soon kill him.”

08) Write an essay on one of the following [5]

9)

a) Sports in schools.
b) Speaking skills
c) Values

Answer any one of the following [5]
a) Write a report on the annual day function in your college.
b) Write a report on the earthquake you witnessed.



Q10) Use four of the following idioms and phrases in sentences of your own [5]
a) Flowing with milk and honey.
b) Open sesame
c) Milk of human kindness
d) Apple of one’s eye
e) onthe cards
f)  Whole hearted
g) blue print
h) White flag

Q11) Answer any one [5]
a) Write a dialogue between two friends who are discussing their careers
b) Write a letter to your mother enquiring about her well-being.
c) Write a letter to the editor of a newspaper about the problem of Eve-teasing in
your area.

44+



Total No. of Questions : 7]

Time : 3 Hours

(DTEL21)

[Total No. of Pages : 02

B.A./B.COM./B.SC./BBM/BBA/BHM DEGREE EXAMINATION,

MAY -2018

(Examination at the End of Second Year)

Second Year
TELUGU (Paper-II) (Part —1)

Maximum Marks : 70

01) 808 08 258 DH,O8 DB DY BoTaeD TPANOG.
— (&) L] —

02)

03)

a)

b)

808 TOS® DB P50 B0 BoL0E38 DO T D TPODHO.

a)
b)
c)
d)

a)
b)
c)
d)

DY FOBEREINB DY DB 5328 S9He0
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O 55020850 EED BANHOC DAV BFEDEYHIS.

& - gIadio
DB e80! HIeeren Satoe ?
HOBR,BO0DHEO BO OHIEDS.
B3 HPRD B8 oS00
T2 O 8305 Q00B A3NBEOVEHRIO.
& - 8330
83 RSO B0 WRDOTIBD).
DBEOTTg DTG Dedros, e
BE B0 BD D) 28 3.

S0 @332 SP0BN 0D 88 O

808 TDS® HB P50 B0 208 PO DHBIEHO T2ODO.

a)
b)

& - gIaio

HBED DEY TBO DBOOTOID.

& XN DBEPH0 EID0 DEGEID DEEW DHOOTTOG.

[8]
[2 x 4=8]
[2 x 7 =14]



04)

05)

006)

07)

& - 8330
0) & & 5D HAZ DBHOOTTOG.

d) ‘oo B0 - wo é)aae)g’ D00F0 TFPODHO.

808 TDS® DB 8150 B0 208 oD DHIGPHO TPODHO. [2 x 6=12]
& - gIadio
a) @O g OLBELHNH OO 5O KggIPLBEODOOD DBRIOTIOKD.
b) oceoHe sewoTS Szpetes G556 HHOOTO.
& - 8Jel30
a)  BH TR (oD DBD,0DD B0 -BOFPDN DEIS® VB FE;H0 SERSOTe BYOS.
b) oo SOBS® HEBTRE TS HBIEEN (5708 TN

808 T0&° Bo&0e38 DBTGITe TTPOHO. [2 x 6=12]
) DOEBH0 T
b) x0ess

C) 20D ooy

d) 2odog DS,

808 RSP 28 DRI 5328 2500 T320HOG. [6]
a) S0P DAL DHE 8w WHI;BS

b) I3 0780 HSPSHOD Denden

C) ®OF DeRDO - BPDTFNSADO

a) 1) 80od H; FwedS s HFRD TR, WOLBKIBI COYOD aDHBD DE2,H508. 855> 5]
0BT 08B0 HFHNSS BHG PESHVS
(8o2)
1) 80o& T 28 PO VETLTEELOT OFETR BROG
1) soago
2) 8Bocso
b) 1) Bod D508 OS] BY, OFEO BY), DEVHV;0MOWBOL RTBOBIODHDR,0H
DYPBER gPOBIBOD 5]
(8o2)
11) 808 0050’ 28 8 VFTesSEIOT OFE0 BYOS
1) oo
2) &Ipossn
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Q1) Answer any two questions. (2x10=20)
Q’éﬁ: I feraal
a) Sketch the character of Jeemutha Vahana as described by Sriharsha?
SfrqaTee sfict arfeet = $%d 7
b) Sketch the character of Duryodhana as described in Urubhanga?
e 3l T g 7
c) Sketch the character of Baladeva?
TAGEE U %d ?
d) Write the story of ‘Sri Krishnasya Maitri’?

sffpereri=f 3fa dTeawm g foea 7

02) a) Describe how Viswamitra attained the status of Bhramarshi? (10)
Torvanfim: 9 srafs: ug foeeea ?
OR / 3T
b) Write the substance of the story “fSesi ‘frq?m{”?
Tt Swswtafa spamn: arw forem ?

03) Explain the four of the following with reference to context. (4x2=§)
T FEeH S|

a) WYE e @Td Ygee: |

b) TRFTY fcaqgadia Y|

¢) 3T Td HErwE fiEfor v wf|
d) TR TE: |

¢) FEhd TIHE-ME guTH|

f) ERmataERn g:fad wmmeEmE|

g) Toh U THHIHE Y|




05)

006)

07)

04) Write in brief note on any two.

. TP ol
a) Yurs: |

b) HIY:|

C) METEIDH

d) Gréﬁ'c[:l

Define and illustrate any two Alankaras.

2T ET AT T 3T ‘mUfuT ferEq|
a) T |

b) cIshy
) IcUE|
d) TIEqa |

Write the forms of any four of the following Sabdas.

Teamit ffdy foraferay sreeedTion foraal

a) Seiq<h (EMTIT)
b) TS (GwHt)

c) @ (WE)

d) Wb (o)

e) forgd (vah)

f) T (9) (Sgefl)
g) g (&) (vm)
h) 3rerg (fgeram)

2x2=4)

2x4=8)

4x2=8)

Write the forms of any four of the following adding the given terminations. (4 x 1 =4)

FUI AT ArTrea forgr|
a) $-dsd

b) 93-dH1

c) TH-cdl

d) -3

e) d-341

f) H-T

g) -G

h) F-¥q9q



08) Translate any four sentences into Telugu or English. 4x2=8)

TUI ATYTIR T ATAUTERT T |

a) TAEHU: HHISE HTdl|

b) EERA AR TN S |

¢) foeudt oTryeRt foxge #uew *1fEq|
d) gmi el e

¢) 78 ufdfed ITaTemet TesIH|

f) TIHRE Galnd e |

g) TRl TSI TS|

h) T 9g, 91 =X
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SECTION — A
Q1) faAfafea T =1 aye e S| (18)

a)

b)

e oo g e, @ § O uEre
qd & =Rl welt, 9 @™ gen|

YT
TR %ol Afe WA 7, TR afe 7 9|
e TN T fag Tqfd Tt gl |

“Hl 9N g 98 Th A I TS,
& st 9 2 S - 9|
FE
TR S F9 § g, T9 W IS T H 3l
ITEV—ha oIkt TS g1 &0 99 | g0 &¢ 31fial|

FHUSR FH i 1 ! RN Hh a9 o T8 BIEd|
q wie aRfeufaat 1 off g %@ 2l

SOEN
e & 9o qF, Th-91 99 g@ U7 T 3§,
18 a1 Ul H Gl 1 Tl &1 Fohd B

SECTION — B

Q2) Torell wh feran =1 wwr fofiay| (10)

a)
b)

c)

hehd] ohT U= |

AR STy
fiyegen|



03)

04)

05)

006)

forelt wsh et o1 ufter fefor) (10)
a) hANGH |

b) #t Aigaa fgad|

c) it Tmath fog ferem

ferelt weh T W ey fafaw) (10)
a) JEdpIcHd|

b) 3T T =i

) CEI-ul|

d) fosm @ &1y 3k @)

e) TATEIT-Jgyul|

forelt weh wifeed for W fay faflay (10)
a) AT(CehTet shi forRiwaraTl i Tmesy|

b) Wihehtar Sl gitfeufaRn TR feivareti & R § fafEu)

c) e ol faehm R SRR J9Te|

d) U= 3R Y9EE

FrefeTiea T 1 et ® 319aTg ik (12)

Never tell a lie. Lying is a sin. Always speak the truth. Nobody believes a lier, nor
loves him. Lier forgoes respect in the society. Respect your elders. It helps in building
your character. Never hesitate in helping the poor. Be Kind to all creatures. Telling lie is
the root of all evil.
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SECTION — A [4 x 10 =40]
Answer any Four of the following
Each question carries 10 _marks

Q1) Write about scope of the environmental studies.
DO BE3,0DB0 TN, HOPD BODHOE.

02) Explain the role of minerals in industrialization.
DO FOEGES? POB/HDO A0E, BB HOOTITOR.

03) Expalin biotic and abiotic factors of an ecosystem, with suitable examples.
855 HHPS® 85, DY OBIPPEITOO0 BTSTSROE DHOOTIOL.

04) Give an account on the threats of biodiversity.
ESBDE;0 DE0E,080 DBOR;OB0 BODOE.

05) Explain ecological pyramids.
85585 HBOEOD DBOOTIOL.

06) Describe sources, effects and control measures of thermal pollution.
esgsaenzqs 5055000, 58305300 H0DATD DODOFBES DEBIOKD 50050k,

07) What is meant by solid waste management? Explain.
FOD Hg8 DDEHNO DY5570E0 DTPBE0? HBOOIO.

08) Explain the following.

a) Urbanization
b) Role of individual in pollution control.
808 030 BO0S0%.

a) HEQBSGERHD.
b) seeng; DC0S® H58 A3, Mo



SECTION - B [3 x 20 =60]
Answer any Three of the following
FEach question carries 20 marks

09) Write the importance of various alternative energy sources and give some examples.
DD HBRHTRAD I8 SO0 DB BB SOOI &° TIPSO BODO.

010) Explain the role of bio-geo-chemical cycles in maintaining the equilibrium of an
ecosystem.
BHOE DY O30, é&ﬁo@?}g@é B85-8090-Bp 0N HOODHEO Q3008 3B DBO0TS0%.

Q11) Give an account on the sources effects and control measures of air pollution.
3P0 o)y SoSEPeN, DI KVDATN DODOBES DLBOOHD B0H06.

Q12) Explain EIA.
DOVHTETR HAPDBO TR BOTIO GINE) HOBOD 5708 HBOOTOG.

Q13) Write the conservative practices of bio-divesity.
8D BOE VOBEEF HERDBHBDEO FeoH O,

Q14) Explain the following.
a) Coastal zone management.
b) Wasteland development
c) Ozone layer depletion
d) Disaster management
808 030 BO0S0s%.

a) 88 oo DT 0D

b) e ghese DS
C) &E5S o5 Eeass

d) 8,5 DoREe DT

44+
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SECTION - A
Answer any four of the followingquestions. (4 x3=12)

Q1) Features of Commercial Banks.
oedegg 29,0800 OFEIHDD.

02) Credit Cards.
8865 (DTDHA) s05e0

03) Money Lenders.
é% D0GRSD.
04) SFCs
SFCe»

05) Reforms in Indian Money Market.
gIRTS (533 3703,85 DORHBERRD.

06) “Dormant” Accounts.
“@eBR00¢e5” gremeen (Q3PaDH growoen)

07) Assignment.
ODDBO0ES.

08) Statutory protection to the Collecting Banker.
DRVTRD 27,0880 IO ToDMB,E SHE5.

SECTION -B
Answer any two of the following questions. (2 x 8 =16)

09) Explain the merits and demerits of Unit Banking.
075 2372,0808 8GNV HBOOTIIED.

Q10)What is Indigeneous Banking? Also state their activities.
BBaD 2570,0808 DT ? EDOOLD w03 S5, BeDHBVH BLVLYHD.



Q11)Explain the services performed by NBFCs.
NBFCen @08:038 98¢ 2550550 HBO0EI0.

Q12)What is Endorsement? State its types.
DOTEEB00E) BBTDO ? BOLSD BEBNOHO BLVYHW.

SECTION —-C
Answer any three of the following questions. (3 X 14 =42)

Q13)Enumerate various functions and services provided by modern

Commercial banks. Also state their role in Economic Development.
BEONE  DoEdeyy 200 WODNP DL TESNOOND  HELV,  DBOO

DBDEOOTHHD. BYE I QS° 539¢3 B0 BT BLOLEHD.

Q14)Trace out the origin of Exchange Banks.Also state their major functions

and problems.
DENDOLD 23350820 YEPBID BVY&ND. 0DOKD 083 300gDEOR, DORVGO0

BJoT50 Sea)ad).

Q15)What is Money Market? What is Capital Market? Also state
theirdifferences and similarities.
BB, DBBxe5 @5 DT BITOESHD HIB,e5 @5 DEV? @eed HSTe Bween

OO TFFDBOD HHOOTIVEND.

Q16)Define Banker and Customer. Also State the General relationship between

Banker and customer.
230,0880-830830000O00 DT DODRN.  0OATD 30D S0P B Degyeses

D000 BIetse S03)D.

Q17)Discuss the concepts of Mortgage, Pledge, Lien and Hypothecation.

As a banker which do you prefer as a Security?
B5g7, B0, DS 50O0HN BN T FRDBOT THODHW. 23208507 O

S80S BPEBOVAD ?

Q18)What do you mean by Development Financial Institutions? Also state their

structure, functions and growth.
@a,ﬂée)%) DS éo“c(\a)en Svler] S)éoéoéaoéaoa:{@? 000X e g BTN, NSO

D00 DEOCEODD BIeTse SD)0.

+44+
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SECTION - A
Answer any four of the following questions. (4 X3 =12)

Q1) Minimum rent in royalties.
020D BEIDD 3.

Q2) Features of instalment purchase system.
@00 §208%en DS B0 ©FEToRD.

03) Limitations of single entry system.
2,083 D DEPHHN HODOBOD.

04) Features of income and expenditure account.

80D - HOI oo OFKETORL.

035) Contents in partnership deed.
8IS E0g RGOSR @O0,

06) Profit and loss appropriation account.
€IOTDR DO,D yoezo.

Q7) Salient features of dependent branch.
@@66&)&0&1}@ 23008 (9)BOB,) O30T, HDY DFHEFDDLD.

08) Features of debentures.

200089 DEBee) OEEF.
[\ b |



SECTION - B
Answer any two of the following questions.

Q2 x 8 =16)

09) On 1-01-2015 Yogendra purchased a machine on Hire Purchase from Mr.
Anand. The hire Purchase price was Rs.1,20,000. Payable Rs.30,000 as
down payment and three annual instalments of Rs.30,000 each, the first
annual instalment being payable on 31-12-2015. Mr. Anand charged
interest at 5% per annum. Yogendra charged depreciation at 10% per
annum on diminishing balances of the machine. Prepare necessary ledger

accounts in the books of Yogendra for 3 years.
1-01-2015 8O BRG0OE 208 0HOBY ©F EXDG0 HEBS sHod H0&

82506300830, OHOEEN G308, 3 520650 58 83.1,20,00000. BBBO0D
DEBDOHOS? B3.30,00000 BHOTSHBHI. QIAODD B0BHD BT @PONTE
852.30,000€0 Tﬁaofgsé ag))oﬁéeoméo. B0ESE3 TeoNTe 31-12-2015 BEDS
DYOBE. WHOH DODBBCDE 5% HG BHBEPR0. GRG0 DVODBLTOE 10%
RS ODHOBEND BEDEO BRBY D00 DEBS® BB, ARG
DSOS WBDERD GoEoen FIetE DOBBTIOB) HBOFD OO

Q10)Radha agencies keeping its books under single entry system. From the
following prepare “statement of affairs” and find out profit/loss for the
year ending 31-03-2018.

Particulars 31-03-2017 31-03-2018
Fixed Assets 40,000 68,000
Current Assets 15,000 27,000
Current Liabilities 20,000 14,000

Additional information:

1) Additional capital introduced during the year was 12,000.

2) Personal drawings from the business were Rs.3,300.

3) Depreciate 10% on fixed assets.

4) 5% discount reserve on current liabilities.

Ooge DBYIRD B0 T DVTOD 20E3DEY HEPBOS® FpaTOTHIRD. B0
DDHPRBO @GSO,  HHIE  DBDBeD OO  31-03-2018  BOHSP
BOBHICTg DOBBTEDS eRIHERL B08%,04.

QBTeeN 31-03-2017 31-03-2018
?’86 &00eD 40,000 68,000
<58 e300 15,000 27,000
inle) €95);€0 20,000 14,000




DY) DATTI0 :

1) DOBBEE 59007 DDEFYD OB SoRE5HO B3R.12,000
2) & 50065 ém@eg FPoSmREseN &R.3,300
3) ?’86 80O 10% LYo ulgblal)
4) <S8 eD,0 5% BRR,0e5 OBB); DT WOHOG.

Q11)A,B and C were in a partnership, sharing profit & loss in the proportion of
3 :2: 1. Their balance sheet on 31-12-2017 as follows.

Liabilities Rs. | Assets Rs.
Trade creditors 7,000 | Loose tools 5,000
Bills payable 10,000 | Machinery 12,000
General reserve 24,000 | Factory premises 18,000
A capital 30,000 | Closing stock 43,000
B ,, 20,000 | Debtors 14,000
c . 10,000 | Cash 9,000

1,01,000 1,01,000

Mr. B retires from the business on 1-01-2018. The terms were as follows.

1) Goodwill of the firm was valued at Rs.12,000
2) Trade creditors valued at Rs.5,000

3) Depreciate loose tools at 10%

4) Bad debts. as debtors was Rs.1,000
5) The closing stock was revalued at Rs.50,000
Show the necessary accounts and prepare the new balance sheet of A

and C.

ABsooam C of £8300 28 gptansnod® 3:2:1 QRS enssodapen
DHOTHER P50, o0 R) WO DHE 31-12-2017 BEOD 0O HESOTR SGHO.

3

€98),0 8. | 8xen 8oe.
YT 20003080 7,000 | DEDDB0EN 5,000
BYOKY STvoden 10,000 | OO oew 12,000
DPRSEs OB, 24,000 | REE 8HTE0 18,000
A Somedsso 30,000 | &0808) DO 43,000
B., 20,000 | 220083 {590 14,000
C 10,000 | &6 9,000

1,01,000 1,01,000

B & s0e50c508085) 1-01-2018 88 DREPE0 08 B0 THDEIEOWBE.

808 DB TIODHBOOT0HD.




1) grEREE DOY &S B2.12,000 0 DBO000TRLD.

2) BEE 2200eTRBD 530.5,000€007° HEVED SepX0.

3) & DDB0EYD 10% BBIOEO.

4) 200 0D Coereden &3°.1,000 B05).

5) H0A0Y) DEDE VD BJe.50,000007 DEAVOEID.

OBVERD Femeen Fpd A woan C gpidye g, §°8 &

w5500,

=]

Q5,0 He3
e

—0

Q12)From the following information prepare Amaravathi Branch account in the

Books of Bengaluru Head Office for the year ending 31-12-2017.
O CNVYRD DHTERB0 SB0Me BOrHETRED DED S2080N0 DSOS

OBOCHB PO Fowe 31-12-2017 BOE® WOBZOCT); DOBFTDE HOHED

VaHo.

Particulars BT Rs.

Opening Stock (at cost) FPpBOES DB (POHD) 1,00,000
,, Debtors " 220063 {50900 12,500
, Petty Cash " DG 5o 200
,, Furniture " DS 10,000
,, Creditors " 2203080 8,500

Cash received by the branch | 272058 gre@emethe Hood

from the customers HRD BB 7,00,000

Discount allowed RBITDOED RYD BR,065 500

to customers

Bad debts written off 5653 SRS Ceerden 1,500

Credit sales OB e&0,50e0 7,50,000

Cash sales D550 @,50e0 1,50,000

Goods sent to the branch 250058 HORD HBED 5,50,000

(at cost) (563

Goods returned to H.O. H.O. & 50550 <3208 O80EH 12,500

Goods returned by customers | grememete &00& 200w8 HQD

to Branch OB TH0 5,000

Petty expenses paid by Branch| a0 39090 998 pzen 4,000

Cheques sent to Branch for

following expenses :-

PE® 8500 20 HOBD

TBéD&QD -




Salaries Besoend 36,000
Rent & insurance 3 500050 dir 14,000
Petty cash DS S5O 4,500

Goods are sold to customers at cost +50%. Depreciate the furniture at 10%
TITADOL) OOV G55 + 50% SO DELE F,T00 TR, PYTSEID 10%

SB00L5O.

SECTION — C
Answer any three of the following questions. (3 X 14 =42)

Q13)0On 1-01-2012 Prestige Company has patented a new type of gas burner,
issued a licence to “sunflame limited” for the manufacture and sale of
burners for five years on the following terms:

a) Sun flame limited to pay a royalty of Rs.100 for every burner
manufactured, subject to a minimum rent of Rs.50,000 per annum.

b) If, for any year, the royalties calculated on burners manufactured
amount to lets than the minimum rent, the ‘sunflame limited’ may
recoup the short workings against royalties payable in excess of the
minimum rent in the next year only, but not after wards.

¢) Payment to be made on 31" December. Sales and closing stock of

burners for 5 years were:

Year Sales Stock on 31 Dec.
(units) (units)

2012 200 50

2013 400 100

2014 600 70

2015 550 150

2016 230 20

You are required to show the

1) Royalities a/c;

i1) Short workings;

ii1) Prestige Company a/c in the books of “Sun flame limited”.

1.1.20128 38 BoDD B 5 S0 5°8 SBEIOD (R0 FED S0IOS 5 DE30eS

BB, HBBBTIV ©H,5008 0O NBHIOD 5 VOO S0P DSPS DOOEBHEED

BRGB B00acd WBROB.

a) 638 SRS HE 1FEL 100/- 00HY BPDTR BIDD ©F Do 50,000
BYHOTSEDS DEPS0 OREE @oAEOODILD.

b) 8d0D ©F Bo& 00D BERIBIDE DZBD BENHDIVWY OO DGED
BT BOE DOBZTEN &I W0E3HEDS @BHSHO EHODTD.



C) OB Dol GHOVBD 315 BYOIHOR GOELVOD. 5 DOI SO &S,
DBODS 2560 oS5 DaHedme0D.

ool €950, 500 &oad 31
(Rom;) DB (Do)
2012 200 50
2013 400 100
2014 600 70
2015 550 150
2016 230 20

DIPD OEBE D)z

1) Co0HE) Frowse

1) S0 30eee growo

i) PR BodD gromesnd S WoHok.

Q14)Following is the receipts and payments a/c for the years ending 31-12-17
of a public school, prepare income on expenditure on the balance sheet.

Dr Cr
Receipts Rs. | Payments Rs.
1-01-2017 31-12-17
To Balance B/d 16,300 | By Staff Salaries 36,000
31-12-2017 ,» EXp. for building (from fund) | 72,000
To Sub scriptions 32,000 ],, Tournament Exp.

(from the fund) 7,000

,, Building fund 80,000 |,, Books (from the fund) 12,000
,, Donations 54,000 (,, Stationery exp. 1,000
,, Tournament fund| 10,000|,, Cost of prizes 13,000
,, Library fund 12,000 |,, New furniture 45,000
,, Interest on F.D.s 4,000 | By Balance c/d 22,300
2,08,300 2,08,300

Additional Information:

1) The assets are fixed deposits valued at Rs.50,000; Furniture 30,000.
2)  Sub scriptions received inadvance for Rs.3,000 on outstanding for

the current year Rs.1,800.

3)  Outstanding Salaries Rs.4,300.



DS DD 208 DHPE DIe,e0 ABWE, DO, - WOV oo 31-12-2017
BRSO BEROD - HOME owe HOOKN e]) 98, HEJ BOTEDBODHOS.

ST 3. | BYoen &0.
1-01-2017 31-12-17
To 895 Doy 16,300 | By 208 deoen 36,000
31-12-2017 1,839 DTR,0 (D J00k) 72,000
,, TSOCIORD 32,000 | ,, e59g@00e5 peszen (D So0&) 7,000
yy B0 DT, OO 80,000 | ,, DOseen (OO Hoodk) 12,000
,, DTPLILD 54,000 | ,, &SS S 1,000
> €595RB00ES Y 10,000 | ., Dezo 8500 X 13,000
. 828 O 12,000 | ,, &°8 &5 45,000
,» F.D.s 3 58 4,000 | ., 38D Doy 22,300
2,08,300 2,08,300

DY) DATPTI0

1) QoY ée")aomg 380000 %’;_>§5 &ae3ey) 832.50,000 80000 K_-)Q'rﬁd) 30,000.
2) BOLOTe HOTRSD SO E3.3,000 OO B8 HODBT 503208 00OS°

HDDIPND SoHOVD IO 1,800 BO).

3) RS BYOSHRDS deeen 632.4,300.

Q15)Given below is the Balance Sheet of P and Q, who are carrying on a
partnership business, sharing profit and loss in the ratio of 2 : 1.

Liabilities Rs.| Assets Rs.
Retained profits 9,000 Fixed assets 60,000
Creditors 10,000| Floating assets 35,000
Bank loan 21,000| Bank 5,000
P’s Capital 40,000
Q’s Capital 20,000

1,00,000 1,00,000

R is admitted as a new partner for Y4th share on the following terms.

1) R will bring in cash Rs.30,000 as capital and Rs.15,000 for goodwill.
2) Appreciate 20% the value of fixed assets.

3) Revalue the floating assets at Rs.32,000.

4) Create 10% discount reserve as creditors.



Prepare the ledger accounts as show the new balance sheet of P, Q and R.

P,

Q 87652,550,0 G308, BR) - K, HE DEDD CWEBEBROD. A 2 8 1 DHNES?

SLIAINT ) éoﬁoéaoeaomgd).

€98),0 8oe. e3:00e0 8oe.
D0DE e30830e 9,000 ?’86 30000 60,000
2200€9T308520 10,000 <58 e300 35,000
23R 086 D, 21,000 23,08 5,000
P someersso 40,000
Q., 20,000
1,00,000 1,00,000
R o3 58 1/4 & H0B> eogfdaposd §°8 ancadre 8080 DBB0E Sad
BEEOTBE0.
1) R 85 soeesso 806 630.30,000, (HEHS 500 G3.15,00000 D50
0BT 50 0F00.
2)  R8 esgen Hend 20% DOTSOG.
3) <S8 esgen &0.32,00000070 0 DFON0TTRD.
4)  e00ewese0d 10% BiR,0e5 D8 DT WOTHOk.

BBOCROD ge@een BoeHLR, P, Q oot R cns, §°8 ewsd,e 563
BOTRD VoHob.

Q16)From the following particulars, prepare “Departmental Trading” and profit

& loss a/c in columnar form for the two departments of A and B for the
year ending 31-12-2017.

Particulars A Dept. B Dept.

Opening stock 1-1-2017 20,000 4,000

Purchases (out side) 1,60,000 9,000

Wages 4,000 1,000

Transfer from Dept. A - 22,000

Closing stock 31-12-2017 38,000 -

Sales (out side) 2,20,000 55,000




Additional Information:

1) The entire closing stock of B department represents goods
transferred from A department at cost.
2) Salaries amount to Rs.3,000 allocated in the ratio of 2 : 1

3) Other administrative and selling expenses are Rs.5,000 charged in
the ratio of sales.
DDS  HDI8000  egeBoreA GapER00tn oo B &dpEaooese c3ng,
BPER0S HEE OO eRIIHPS FRwe 31-12-2017 BSOS’ @0BHOCD;
DOBBE0DS BOE WOHOG.

OB A 830530065 | B 20580065
DPB0ET HEED DOy 1-1-17 20,000 4,000
§3506%0 (201 DD 0od) 1,60,000 9,000
5000 4,000 1,000
A &&e5B300620 5008 209 - 22,000
B50808) DEHEd 31-12-2017 38,000 -
50,5000 (22050 HH3S) 2,20,000 55,000

DD DATPTI0 :

1) B &@5300e5 cins, 50808 D5 Hend 3ngHn A &e5R0061 ©808
(©90e0 PHEBILI) 0O 90D DBIBIT? DOFEBOTTHSD.

2) woen ©63.3,000 A sooatn B &pEa0ese 53¢ 2:1 58S HoRd
TOHBBD.

3) Domron 000y @5,z PR BR.5,000e0 Botd SPGB0 EG,
2300 @51,500 DB HOBE WODHBBID.

Q17)Fortune Company Limited issued 1,000 shares of Rs.100 each at par

payable as,
On application Rs. 30
On allotment Rs. 50

On First and Final call Rs. 20

Mr. Jagannadh was allotted 60 shares. But he failed to Pay First on final

call money, and his shares are forfeited.



Pass Journal entries in the books of the company.

TR © BoDD OREIE 1,000 Toereen Toer 28,0638 §32.100 e GO,
WHOoDeD S0 DO B

GBge0Y &ots 8oe. 30
B6320008) oS 8. 50
Dc5e3, #8 e oS &3, 20

BERE OF 588 60 Dot BerPC0RY) WODHEO 2OBTO. @B B3, H&
Re0xY) DoE, € DO WHOTIBED. BOLHTIH 3D B VBODEIZOD. EoDD
DS HBOTTVH DePDEO OHOG.

Q18)Record Journal Entries in the books of Coromandel company limited in the
following cases.

a)
b)
c)
d)

Issued 9% 100 debentures of Rs.100 each at par and redeemable at
par.

Issued 10% 100 debentures of Rs.100 each at 5% discount and
redeemable at par.

Issued 10% 100 debentures of 100 each at 10% premium and
redeemable at par.

Issued 8% 100 debentures of 100 each at 20% discount as redeemable
at par.

89550086 Bodd DTS BBOBD @d DoGSZoS® 808 DOLSCROS?
@é&@é r‘ibe)go“)ége)a an:i)o&.

a)

b)

c)

d)

9% é% FOBHW (5 100 E230TSEY 830.100 0 S0OS BTN (TOD. a30®
TR0, €3 HEVHA HAITTIHHW TRDEANES,

10% éc‘;? BOBHD 50 100 GBOTIE) BIe.100e0 DD (SO 5% GRR0LNED
e8-3R, HPE) HOVHED HRTTSHHW BODDNE),

10% éc‘;? FBBL 50 100 GBOTIE &50.100e0 HEVH O 10% LECDHOSS
SR, e30 B0 OB HTeRRE HRIPTIHO TIRBY G,

8% é% BosBHN0 5@ 100 &efj‘oﬂsq)) $30.100€0 SH0ODBHATPDHD (OO 20%
&@E@oé&)@é 2O, 03 SN a8 éme)aﬁgbé DRI TIHO a@%’béc%ca).

+44+
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SECTION - A
Answer any four of the following questions. (4 x5 =20)

Q1) What do you mean by Time Series? What are its main components?
500 BeB @D B ? RS K1Y, WOToD D ?

02) What is meant by Trend? How to measure it?
DB BT BR7? @OV DD & S0 SDBED ?

03) What do you mean by Index Numbers? Explain its uses.
070 HDOYWLED BB B07? 3 GG, GDCITPOKD HBOOTIOH.

04) How many types are the price-index Numbers? What are they?

B8O DI DOV DY TS0, OD DD?

05) Trace out the history of Probability.
D0gIPHEB 308, OB B3OS SaHosn.

06) Approaches to Probability.

DOIH D800,
®

Q7) What is definite integration?
DTROB HBIPBOHO BT BEO?

08) Distinguish between Graphic solution and Simplex solution.

‘e85 Drem@S’ (DHIPERH0) OO ‘VORE VoS’ © 0G50 BESD ?



SECTION - B
Answer any two of the following questions. (2 %X 15 =30)

09) From the data given below compute Fishers ideal index for the year 2002
with 1999 as the base year.

Commodity 1999 2002
Price Quantity Price Quantity
P 20 8 40 6
Q 50 10 60 5
R 40 15 50 15
S 10 20 20 25

D05 DODDES L5eT0THDDED PAE B, DI DOYPDO 20028 DODBCEDS
(7380, 1999 &GRS DOBFTOTP BHED BHHH0k.

BDYEHeD 1999 2002
wle} DODTPEI0 wle} DODTPEI0
P 20 8 40 6
Q 50 10 60 5
R 40 15 50 15
S 10 20 20 25

Q10)Find the trend / line equation and obtain the trend values for the following
data using the method of least square. Also forecast the earning for 2004.

Year 1995 1996 1997 1998 1999 2000 2001 2002

Earning
(in’000Rs.) | 38 40 65 7269 60 87 95
D505 HODEDS L5T0TENHED BT S0 DEBD Hi3B VHIBGLFD HIOOKLO

DB DB B06°3508%. 20048 éoégom‘bé P OISO Bé&oﬁo&.

éoégdo 1995 1996 1997 1998 1999 2000 2001 2002
83050000

(’000 Bx.0e9) 38 40 65 72 69 60 87 95




Q11) Find the differential co-efficients of the following power functions:
1) y= X
i) =¥

1

4

—
=
=

p—
<
Il
=

D05 DoDHES 1508 Hogd  (functions) o 550D HEsOD BG3HOk.

1) y=x
i) y=3x
i) y=—
X
) y= e
V) y=x_
vi) y=3x’

Q12)Evaluate the following integrals.

1) I5x3 dx
i) | gdx
cee 7x*
1) j > dx
iv)  [2krdx
7

V) jﬁdx
Vi) I9x'zdx

D DHTPED DHIBBEFoD DoQOTOb.



SECTION - C

Answer any two of the following questions. (2 X 10 =20)

Q13)Using both arithmetic mean and geometric mean construct a price index
for 2002 with 1997 as base under Simple aggregative method.

Commodity M N O P Q R

Price in 2002 25 30 15 35 45 55

Price in 1997 20 30 10 25 40 50

BOE 50555000 FDOID (D8 EDESGEH0T0 SDAZRAHT 20028 HODHFTOS,
19978 DODFOY SERS0Te SX0ED O D) DoY) ‘DRt DD
DB8” Hses0o B88,0t508.

S0 M N O P Q R

20025 Hon &8 ssen | 25 30 15 35 45 55

1997 & Don &8 gsen| 20 30 10 25 40 50

Q14)Find the following data compute the consumers price index numbers using
both the aggregate expenditure method and family budget method.

Items Rice Wheat Pulses Ghee Sugar Oil Fuel Veg

Units Consumed

in Base Year 20 50 50 20 40 50 60 40

Price:
Base year | 3 4 20 250 10 2 15
Current year 1.20  3.50 5 30 5 15 25 18




B0 83295 DEB SOOI DD 850D DB DSBO DD LBROFRVDED

DDA 56 DIRE) DOYPOD0 B&,0w50%.

BDYDeO 20N0 G DD Vo WY PRI HoL  BRS
DTDEL geoHew

88 éoégdoeﬁ‘s

DOIRA0DD

OHeREY 20 50 50 20 40 50 60 40

DB Dol 1 3 4 20 2.50 10 2 15

OO0 B8RS
DoONSBD HSen 1.20 3.50 5 30 5 15 25 18

Q15)A bag contains 5 black and 7 white balls. A ball is drawn out of it and
replaced in the bag. Then a ball is drawn again. What is the probability that

1)  Both the balls drawn were black

i1) Both were white

ii1) The first one white and the second one black, and
iv) The first one was black and the second one white

208 VoS8 5 5en) SO S0OATD 7 BLLY SOCHD 0BV BOF). DODEP oD
28 2083 8, 8O BRD BBITS L5050 BOB OB OTHEED BB,

1) B Bod 22080 HLVEY) BorHS?
1) 3o 2080 e BoH
111)  R00¢5e3 2008 Bes) SOOI BOHBD 0B HLO

V)  R00¢563 208 5e05) 550000 ok 2208 B

OB DOEIBEB0 BFOGTB0E.

Q16)Evaluate each of the following integrals.

1) j(l—xz)logx dx
i) [x*(log,x) dr

111) ji(x logx+1)
X



. xe"
1v) I(x+1)2 dx

> QaDa&S 50¢38 DTEOTOR) 88,0¢506.

Q17)A college has three faculties, viz., : Arts, Science and Commerce in which
40% of the students belong to Arts, 50% to science and 10% to commerce.
From the results of 2008 it was observed that 50% of the Arts students,
60% of the Science students and 20% of the commerce students passed in
the examination.

If a successful student is noticed what is the probability that he was a
student of Arts, Science or Commerce?

28 BG5S Hotsd SEE0BD DFHOL DODOPHODD 85500 @SR, &8, DY
o0 saéoéep 0.

B0BO OB 40% DTN S8§ FRYDL, 50% HERGRE DR (IRDEL
SOOI 10% DTILLED sacﬁ)§ DB WODD oD,

20083 DODHZT HOWO HSBO 50% esg 00 Do Ben, 60% :‘n_>§ [eLs)
DB HOATD 20% SoE0G (5705 DR HOFS SEHSS DS’ ¢f,
D&, e 550G DR OB 5O DOGRDHH DOB?

Q18)Maximize Z = 3X; + 9X,

Subject to the constraints:
X +4X,<8
X +2X,<4
X +X,20
solve the above LPP by the simplex method.

7= 3X1 + 9X2 ("36%5@0'&50&.
0Z8 constraints:
23
X;+4X,< 8
X +2X,<4

X;+X,20
R0HE HSBS LPP &0 deoesods.

+4 4+



(DBC24)

Total No. of Questions : 18] [Total No. of Pages : 02
B.Com. (Gen.) DEGREE EXAMINATION, MAY -2018
Second Year

Fundamentals of Computers
Time : 3 Hours Maximum Marks :70

SECTION - A
Answer any four questions. 4 x3=12)

Q1) What is the difference between printer and plotter.
308285 EOOT et K¢S Bz DR ?

02) What are characteristics of computer?
ORI A30E, ©FETee0 D ?

03) What is the impact of computer on society?
RD&HI0eB0 BORNEIE gIeH0 D3 ?

04) What is file management under DOS?
DOS &5 5o e BoBER00e0 50 B&O?

05) Write any three features of word processing?
Word 525208 dB3ns, DBwe 505t 500 meahodk ?

06) Write about computer languages?
BORR,D eR0TE HOO0D 53000

07) Give an examples for string variables in BASIC.
BASIC &80 string 39aends 8255 €t30s30 560050 R5508%.

08) Explain about PROM and EPROM.
PROM 00050 EPROM 50909 5005086k.

SECTION - B
Answer any two questions. 2 x5=10)

09) Write the history of computers.
BORRLD BN, OB TODHOE.

010) What is meaning and purpose of DOS?
DOS a3208, 0850 8500050 €0350¢5:500 D803 ?



Q11) What are the advantages of word starpackage?
word star H8e3 G308, HSITeeseen DI ?

Q12) What is the process of compilation, correction and testing process.
BoDTN0, BOFS 500050 BROE HEB 0 HRe3?

SECTION - C
Answer any three questions. (3 x16=48)

Q13) What are the various types of computers? Explain in detail.
DO BBV ORI DR PO HHOOTIOE.

Q14) Explain the generations of computers?
05,80 A30E, B0 HBOOTSOL.

015) Give an examples and syntax for DOS internal commands.
DOS 03208, 090858 S57008550 60305305000 5500030 Syntax en Ra;od.

016) What is the use of opening menu? Explain with commands.
Opening &0 G308, €CG3705608063 ? BHROLESS HBOOTTOH.

Q17)What is flowchart? Write an algorithm and flowchart to read ‘n’ numbers.
e @5 3807 ‘N’ Hoadsy read oM RSO KOOIV FF TR0

Qﬁoii)o&.

Q18) What are looping statements? Give an examples for looping and nested loops.
Looping statement en 5083807 @30085 ReSa00enesd> Hovoty nested loop

OB GPTSRORD Ra50Ls.

+4 4+



